BLUE TEAM – Point #1
The common factors of 15 and 18, in order from least to greatest, is your point.
BLUE TEAM – Point #2




X  - Hannah practices the cello every other day, and the piano every 3rd day.  How often does she practice both instruments on the same day?  Every ___ days
Y – A middle school is taking 425 people on a field trip.  If a bus holds 37 people, how many buses are needed? 

____ buses.
BLUE TEAM – Point #3

X :  0.0002 + 2.5 + 0.25 + 0.4998 = ________
Y : What number belongs in the blank?
(________ ÷ 5) × 9 + 42 = 60

BLUE TEAM – Point #4
X  - Ms. Smith lends out pencils to her students.  One day, she gave out 7 pencils in the morning, collected 5 before lunch, and gave out 3 after lunch.  At the end of the day, she had 13 pencils.  How many pencils did she have at the start of the day?
_______ pencils

Y: 50 ÷ 5
BLUE TEAM – Point #5
X:  16/24 = x/3
x = ______

Y –  Kayla went to the movies with her brother and spent $15.00.  The tickets cost $4.50 each.  She bought a box of popcorn and two drinks.  The drinks cost $1.50 each.  How much was the popcorn?
BLUE TEAM – Point #6
X  - 29/4
Y – A cooking class served 4 ¼ loaves or garlic bread total.  Each person’s serving was ¼ of a loaf.  How many people got bread?
BLUE TEAM – Point #7

X - Nick has 8 shares of two stocks.  The first stock has a price of $4.25 per share, and the other has a price of $6.25 per share.  What is the difference in the total value of the two stocks he owns?
Y – The GCF of 24 and 80
BLUE TEAM – Point #8
X  - zero

Y – A caterpillar climbs up a tree 5 feet in the morning and slides back 2 feet in the evening.  The tree is 20 feet tall.  How many days will it take the caterpillar to reach to top of the tree?  ____ days
BLUE TEAM – Point #9
X :  A class of students is divided into 9 groups to work on a project.  If 2/3 of the groups have 2 students each and 1/3 of the groups have 3 students each, how many students are in the class?
_______ students

Y:  5/5
BLUE TEAM – Point #10
X  - The sequence below is formed using letters of the alphabet:
ABBCCC…

If the pattern continues through the letter E, how many letters will be in the sequence?  _______ letters

Y:  3 × _______ = 45
BLUE TEAM – YOU WIN
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RED TEAM – Point #1

Pages are being printed for a brochure.  Seven out of every 20 are in color.  What is the ratio of non-color pages to pages in color?  This ratio is your X and Y coordinates.
RED TEAM – Point #2


X  - 50 to 45 = 5 to _____
Y – A chemist makes a mixture of a liquid and a powder in the ratio of 6 cups of powder to 0.5 gallon of liquid.  What is the rate of powder to liquid?

 _____ cups per gallon
RED TEAM – Point #3

X  - Three copies of a math textbook weigh 9 pounds.  How much would 7 of the same textbook weigh?
Y – Ken rode his bike 21 miles in 2 hours.  His speed was _______ miles per hour.
RED TEAM – Point #4

X  - A stack of 3 quarters is 5 mm high.  How many centimeters tall is a stack of 30 quarters?
Y – Ms. Brown is making costumes for the school play.  She uses 15 inches of lace on each costume.  How many yards of lace does she need to make 12 costumes?
RED TEAM – Point #5

X  - Rudy is 4 feet 11 inches tall.  His brother Jimmy is 6 feet 1 inch tall.  How many inches does Rudy need to grow to be the same height as his brother?
Y: (5 ÷ 8) × 2 = _______
RED TEAM – Point #6


X  - The circumference of a circle is 66 inches.  Using        π  = 3, find the length of the circle’s radius.
_______ inches

Y – The length of a rectangle is 1.5 cm and the width is 2 cm.  What is the perimeter of the rectangle?
_______ cm
RED TEAM – Point #7

X  - Austin tossed two cubes each numbered from one to six.  How many different sums are possible?
Y – A box with a height of  2 centimeters has a volume of 24 cubic centimeters.  The length is 3.  What is the width of the box?
RED TEAM – Point #8

X  - John’s model train has four cars, an engine, a flat car, a box car, and a passenger car.  In how many different ways can John arrange the cars if the engine is always first?
Y – The median of: 3, 0, 22, 5, 8, 60
RED TEAM – Point #9

What is the ratio of weekdays to all days in a week?  This ratio is your point.
RED TEAM – Point #10

X  - A public garden has a rectangular flowerbed with a perimeter of 38 feet.  If the width of the bed is 6 feet, what is the length?
Y – Frank’s swimming pool has a diameter of 19 feet.  What is the radius of the pool?
RED TEAM – YOU WIN

[image: image2.wmf]
ORANGE TEAM – Point #1

X  - A public garden has a rectangular flowerbed with a perimeter of 38 feet.  If the width of the bed is 6 feet, what is the length?

Y – Frank’s swimming pool has a diameter of 19 feet.  What is the radius of the pool?

ORANGE TEAM – Point #2


What is the ratio of weekdays to all days in a week?  This ratio is your point.

ORANGE TEAM – Point #3

X  - John’s model train has four cars, an engine, a flat car, a box car, and a passenger car.  In how many different ways can John arrange the cars if the engine is always first?

Y – The median of: 3, 0, 22, 5, 8, 60

ORANGE TEAM – Point #4

X  - Austin tossed two cubes each numbered from one to six.  How many different sums are possible?

Y – A box with a height of  2 centimeters has a volume of 24 cubic centimeters.  The length is 3.  What is the width of the box?

ORANGE TEAM – Point #5

X  - The circumference of a circle is 66 inches.  Using        π  = 3, find the length of the circle’s radius.

_______ inches

Y – The length of a rectangle is 1.5 cm and the width is 2 cm.  What is the perimeter of the rectangle?

_______ cm

ORANGE TEAM – Point #6


The common factors of 15 and 18, in order from least to greatest, is your point.

ORANGE TEAM – Point #7

X  - Hannah practices the cello every other day, and the piano every 3rd day.  How often does she practice both instruments on the same day?  Every ___ days

Y – A middle school is taking 425 people on a field trip.  If a bus holds 37 people, how many buses are needed? 

____ buses.

ORANGE TEAM – Point #8

X :  0.0002 + 2.5 + 0.25 + 0.4998 = ________

Y : What number belongs in the blank?

(________ ÷ 5) × 9 + 42 = 60

ORANGE TEAM – Point #9

X  - Ms. Smith lends out pencils to her students.  One day, she gave out 7 pencils in the morning, collected 5 before lunch, and gave out 3 after lunch.  At the end of the day, she had 13 pencils.  How many pencils did she have at the start of the day?

_______ pencils

Y: 50 ÷ 5

ORANGE TEAM – Point #10

X:  16/24 = x/3

x = ______

Y –  Kayla went to the movies with her brother and spent $15.00.  The tickets cost $4.50 each.  She bought a box of popcorn and two drinks.  The drinks cost $1.50 each.  How much was the popcorn?

ORANGE TEAM – YOU WIN
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PURPLE TEAM – Point #1

X  - 29/4

Y – A cooking class served 4 ¼ loaves or garlic bread total.  Each person’s serving was ¼ of a loaf.  How many people got bread?

PURPLE TEAM – Point #2

X - Nick has 8 shares of two stocks.  The first stock has a price of $4.25 per share, and the other has a price of $6.25 per share.  What is the difference in the total value of the two stocks he owns?

Y – The GCF of 24 and 80

PURPLE TEAM – Point #3

X  - zero


Y – A caterpillar climbs up a tree 5 feet in the morning and slides back 2 feet in the evening.  The tree is 20 feet tall.  How many days will it take the caterpillar to reach to top of the tree?  ____ days

PURPLE TEAM – Point #4

X :  A class of students is divided into 9 groups to work on a project.  If 2/3 of the groups have 2 students each and 1/3 of the groups have 3 students each, how many students are in the class?

_______ students

Y:  5/5

PURPLE TEAM – Point #5

X  - The sequence below is formed using letters of the alphabet:

ABBCCC…

If the pattern continues through the letter E, how many letters will be in the sequence?  _______ letters

Y:  3 × _______ = 45

PURPLE TEAM – Point #6

Pages are being printed for a brochure.  Seven out of every 20 are in color.  What is the ratio of non-color pages to pages in color?  This ratio is your X and Y coordinates.

PURPLE TEAM – Point #7

X  - 50 to 45 = 5 to _____


Y – A chemist makes a mixture of a liquid and a powder in the ratio of 6 cups of powder to 0.5 gallon of liquid.  What is the rate of powder to liquid?

 _____ cups per gallon

PURPLE TEAM – Point #8

X  - Three copies of a math textbook weigh 9 pounds.  How much would 7 of the same textbook weigh?

Y – Ken rode his bike 21 miles in 2 hours.  His speed was _______ miles per hour.

PURPLE TEAM – Point #9

X  - A stack of 3 quarters is 5 mm high.  How many centimeters tall is a stack of 30 quarters?

Y – Ms. Brown is making costumes for the school play.  She uses 15 inches of lace on each costume.  How many yards of lace does she need to make 12 costumes?

PURPLE TEAM – Point #10

X  - Rudy is 4 feet 11 inches tall.  His brother Jimmy is 6 feet 1 inch tall.  How many inches does Rudy need to grow to be the same height as his brother?

Y: (5 ÷ 8) × 2 = _______

PURPLE TEAM – YOU WIN
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GREEN TEAM – Point #1

X :  0.0002 + 2.5 + 0.25 + 0.4998 = ________

Y : What number belongs in the blank?

(________ ÷ 5) × 9 + 42 = 60

GREEN TEAM – Point #2

X  - Three copies of a math textbook weigh 9 pounds.  How much would 7 of the same textbook weigh?

Y – Ken rode his bike 21 miles in 2 hours.  His speed was _______ miles per hour.

GREEN TEAM – Point #3

X  - zero

Y – A caterpillar climbs up a tree 5 feet in the morning and slides back 2 feet in the evening.  The tree is 20 feet tall.  How many days will it take the caterpillar to reach to top of the tree?  ____ days

GREEN TEAM – Point #4

X  - John’s model train has four cars, an engine, a flat car, a box car, and a passenger car.  In how many different ways can John arrange the cars if the engine is always first?

Y – The median of: 3, 0, 22, 5, 8, 60

GREEN TEAM – Point #5

X  - The sequence below is formed using letters of the alphabet:

ABBCCC…

If the pattern continues through the letter E, how many letters will be in the sequence?  _______ letters

Y:  3 × _______ = 45

GREEN TEAM – Point #6

X  - A public garden has a rectangular flowerbed with a perimeter of 38 feet.  If the width of the bed is 6 feet, what is the length?

Y – Frank’s swimming pool has a diameter of 19 feet.  What is the radius of the pool?

GREEN TEAM – Point #7


The common factors of 15 and 18, in order from least to greatest, is your point.

GREEN TEAM – Point #8

Pages are being printed for a brochure.  Seven out of every 20 are in color.  What is the ratio of non-color pages to pages in color?  This ratio is your X and Y coordinates.

GREEN TEAM – Point #9

X  - Hannah practices the cello every other day, and the piano every 3rd day.  How often does she practice both instruments on the same day?  Every ___ days

Y – A middle school is taking 425 people on a field trip.  If a bus holds 37 people, how many buses are needed? 

____ buses.

GREEN TEAM – Point #10

X :  A class of students is divided into 9 groups to work on a project.  If 2/3 of the groups have 2 students each and 1/3 of the groups have 3 students each, how many students are in the class?

_______ students

Y:  5/5

GREEN TEAM – YOU WIN
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